R (LR ZEMURT — LOEKIE
FETHEHHILD. SE34EAS (PR174)EDILERED 4 BIEE 2 ZBTMEAL. STERINS 2 F—ADSHI,

55 1 [BIR=(BBH47F)SSN

REHTT s|d:375P) HiRY5T
o | & & LS EI =S & LS [ | & & £
1 [47((—1 11-0 BRDMIA-IR (BIF) || 3 |49 |[Z] 3-2 MMH5T(KAY) 5|51 ((—] 6-4 TTARAE](KAT)
[Z] 6-0 MBRR—YDEE(HrttHR) (#] 2-1 EHEIFT(EHR) (=] 2-3 FEIFYS5T(Bl)
(#] 1-2 —hitiXH5T(BR) (R] 2-0 EFEHEHIST(FEHRAF)|| 6 | 52 |(—] 4-3 FEFRLVEI(ER)
RREPRER 4 [50[(=) 12-0 BEEZV(BE) (] 0-2 BEYST(EIH)
[ | & & £ (%] 1-2 SBIST(HH) 7 | 53[(Z) 3-2 EEAMEHI(FER)
8 |54 |[Z) 2-1 ABFHR({EHR) 19| 2 |[Z) 3-4 MSEIST(HE) (=] 7-2 BRI (RIF)
(=] 3-1 FHA(RIL) 3R 4B52E (%] 3-0 FEAMITT(KHT)
(#] 4-6 KPP (ELE) B=10 ~AZr4=1[0 GR] 0-3 HEEIFT(EHR)
10|56 [(Z] 4-0 HEEP(ELHER) 16|62 ((—] 3-1 =REH(LRE)
(=] 1-4 FEARDFEI(FEER) [Z] 0-2 ==H(BR)
14|60 [{=] 1-0 )14 (SRA%AHF) EEREBRFER 17|63 |{=] 0-1 BHEH(FEIRIT)
(=] 3-0 S (FaRF) || &£ b 2 18| 7t [(—] 4-0 FERP (M)
(#] 1-0 /VER(MEER) 24| 7 (=] 8-0 BRI (Bi) [(Z] 0-1 PR L (RE)
(R] 2-3 BEAP)I(EERE) (=] 4-5 REF(E1L) 21| 4 (=] 4-9 BERA(EEEAF)
31(14((Z) 0-3 ANIR(LEES) 26| 9 |[Z] 3-1 FERGANEH) TR TB7H
39(22|(—] 4-3 IMELI(EHR) (=] 0-4 EBrh(AAT) HEER= 10
(=] 3-2 Figrhy(RME) || 35] 18 |[Z] 0-2 #hEAI(KAT)
(=] 6-3 FABZxRFI(ERE) 36| 19|[Z] 3-1 EFY(FEF)
(%] 4-2 BUEHhI(FiHz) (=] 3-0 fmEth(IRR) INEFRREEAR
(R] 4-1 BEFFJ(I8Emm) (%] 0-1 BRFE—H(BFR) E | & A xR
41124 ([Z) 0-2 /JvEA(IEME) 38|21 |{—] 1-0 FHEHIRHY(EIF) 9 [ 55((Z] 7-3 AHIYST (KAL)
4326 [(—] 2-0 BRED(TREHF) [Z] 3-0 ERHY(IER) (=] 1-0 BRE_F(BFR)
(2] 6-2 BEFR(KAY) (=] 3-1 ARPI(EIR) (%] 2-1 FEIST(FE)
(=] 2-0 ERBEAPELHELR) (#] 3-10 KA (KAT) (R] 0-7 BB (KRAT)
(#] 1-0 BRIV X(HE) || 48] Tt |[Z] 1-2 =& (REF) 3417 |(Z] 2-4 fmEP(FEEER)
(R] 0-1 BEE—H(BEER) |[50] 3 [(Z] 0-5 ARER(ER) 2K 3B2E
49| 2 |[Z] #iE Bl (LHER) TR TB7H NRAN4 = 11[g]
9KE= 17B58E% NAKN4 = 2[0]
Bi= 10
ZEERS = 2 [0 &Ry ST 3KX= 1B38K
NRAK4 =2 | & & £ | | & & £
11|57 |{=] 0-12 K#FI5T (KA 20| 3 |[—] 1-0 fEEH(HRHE)
13|59 ((Z) 0-6 EHEH(TaEHF) [Z] 0-3 /INTRF(EIE)




R (LR ZEMURT — LOEKIE
FETHEHHILD. SE34EAS (PR174)EDILERED 4 BIEE 2 ZBTMEAL. STERINS 2 F—ADSHI,

55 1 [BIR=(BBH47F)SSN

PR HFER BRIE AR ZAR REAFFR
o | & fis LS EI =S fis LS [ | & & £
12|58 (=] 2-1 AFEH(EL) 15| 61 (=) 3-0 sthEd(FaIEMF) 25| 8 [[—] 2-1 BEh(FEER)
(=] 5-3 PR _EHR(EIF) (=] 0-1 BIEHh({EH{R) (Z] 3-2 BFH(LiR)
(%] 1-2 AEEPULER) 45128 ([—] 3-4 =ZEH(RIF) (=] 2-0 BRE—H(BFR)
PERR A AKX 49( 2 |1Z)] R¥ HFEH(EF) (%] 2-1 {CHPIST(HE)
23| 6 [[—] 5-0 FEARMH(KAT) (=] 0-3 RAER A (RET) (R] 2-5 SRFALEER)
(2] 2-5 EMER(ER) 3X%= 2B53EK 2811 ((=] 6-2 BB (L)
PEERE L (=] 4-8 (LIBTP(EER)
29[ 12— 6-0 REETHR(1E4L) BIRHER 32| 15|(=] 0-16 FE{EH(FEIHAT)
(2] 2-4 =FFD(EET) o | & & R 36| 19|[—] 2-6 SEKPH(HEHIR)
30| 13 |[—] 5-4 SHE4(FEERF) 22| 5 [{—] 2-1 FAERGHERNE) 43|26 [{—] 5-3 HFH(ULHR)
(2] 4-1 IR (CRIRAT) (2] 4-0 KEEP(FEEGT) [Z] 0-1 IR (&)
(=] 1-6 AERP(EER) (=] 0-7 #EAP(LHELR) 45|28 [(—] 2-0 MEJLH(FEEHF)
3821 ({(=] 0-7 {4y (181L) 35| 18|[—] 4-3 fmEHh(EME) [(Z] 0-7 ABEXRFP(RME)
5K= 6B5HK (2] 0-10 REE=-H(F&HE) 6 Rz 7B56HK
NIAK4 = 1[0 2R= 32K B = 10
BEFRER SEXREPER(AAFETFFR)
[ | & & £ [ | & & £
27(10((=Z] 1-0 EAR(EK) 31(14|(—) 1-2 /IME4HR(ESL)
(=] 2-4 KHEEH(FEARAT) $E34[E] (TR 1 74E) SR ST EBCHRA
33| 16|[—] 0-4 ZRE®(LAE) 46|29 ((—] 1-2 FER(TEE)
2K 1B2E 47|30|(=] 5-6 f@BAP(EHER)

3XE 03K




HEINEHICLD. FB34EKRE(FRk175)IDILERED 4 B LS 2 ZBTHHRA

INRHFRFER ARER PR
m | & & 2 m | & & 2 o | & & 2
2 |48|[—] 7-2 FEALEETEI(RIF) || 40| 23 |(—] 3-1 BEP(LERE) 4 |150|(—] 0-2 WBIST(EHR)

(2] 13-1 NETEI(BIR) [(Z] 6-1 LB (RIF) 5 | 51|(—] 8-0 &WEHIST (F1AF)

(#] 1-5 FEAAI(KRH) (=] 1-0 BEFP(LiHR) (2] 0-1 #B@Y57 (EHR)
10|56 |[(=] 4-2 )95 (BRAHF) (%] 4-2 fHEFT(RE) 6 | 52|(Z) 1-0 BEYFT(FRAF)

(=] 0-4 WMYEYIST(AAE) GR] 2-1 BFRB(BEEER) (#] 4-2 =237 (BR)
13|59|(—] 5-3 =&957(BR) 41|24 |[—] 2-1 EFZETANIIE) GR] 0-2 BRIFI(EIF)

(Z) 2-1 FEP(RE) (2] 1-1 pmEER(ERE)|| 9 | 55((—] 0-4 KE]YST (KAL)

(=] 4-3 SBEP(FERT) 42| 25|[—] 1-0 EAEP(FEE) 16|62 [[=] 0-4 /INIRAR(EILR)

(#] 2-4 BAP(EIF) (Z] 0-4 BRI ({LiHR) 18| 7t |(Z] 2-3 £AHR(RAL)
19| 2 |[—] 2-0 FER(EHR) 44| 27|[—] 1-3 =&R(BR) 25340l (FRR 176 ) SDREZEBIHREA

(=] 0-7 =) (EE) 46|29 |[—] 4-0 STUA({EHR) 37(20|(—] 0-3 #E4h(E1t)
20| 3 |[Z) 2-3 FHERSR(FEMHF) (2] 7-0 BERGNH) 42]25|(Z] 0-2 RERH(EEEHF)
21| 4 (=] 8-3 BMH(LERE) (=] 5-0 KAHR(KAM) 44127 |[—] 5-2 R (EIF)

(=] =iE HEPRNE) (%] 4-1 FABRP(ERE) (=] 5-4 BlIR(LERS)
22| 5 |[Z] 6-9 BFRI(FEER) GR] 2-4 AT ((CER) (=] 8-6 EEZEVANI(E)
28(11|(—) 1-4 AERDP(EER) |[47]30]|(—] 3-4 BFH(EIF) (%] 1-0 mIERH(IRFE)
29| 12 |(—] 0-14 FBAT(LHAR) 48| 5T [[Z] 0-3 At (FEE) (R] 0-4 LR (BREAF)
- L e ang=q || 16AZ=  19B5158K  BE5= 16| 50| 3 |(—] 1-9 AERP(RE)
RIEPRL7FE)OREZIMAN e 15 Axh4 =28 || 10K 7108 EEH= 20

ERAFER
m | &£ & 2 @ | &£ & 2 @ | & & 2
8 | 54 [(—] 4-0 TEEEBFERI(EHR) || 24| 7 ((Z] 4-3 KRERDERENF) || B34E (TR 174F)SDFREZEBICHRA

(Z] 1-5 BAY 1Z27(AEEEK) (=] 0-2 /IR (EE) 39(22|{—] 2-0 /MEEHY(IR]L)
11|57 |(Z] 0-1 /JER(FEEE) 25( 8 |[Z) 2-1 =ER(RIF) (2] 1-0 AEPY(E)
14|60 |(=] 1-4 /JNEP(EER) (=] 4-3 RO (LHR) (=] 0-3 BEEHY(EmM)
15(61|(—] 3-1 =&£H(BR) (#] 7-0 BRED(FERAT) 40| 23[{=] 2-0 BERR(FF)

(Z] 1-0 EFEiEh(FaissT) GR] 5-2 REASGRR) (=] 1-2 fEEF ()

(=) 3-0 FER_ L (RIF) 30| 13 (=] 3-5 HEAH(EY) 13K 17851284

(#] 0-1 BRP(EER) 31|14 |(—] 6-0 MRHF (BRMHF) Bs=1m0 ~RXh4=2[E
17|63 |[—] 5-1 BEIA>X(IE) (2] 2-0 EIFGHETI)

(=] 3-2 Birh(E) (=) 4-1 FEAeh(HLH) WBIRI5T = tERZEBRE

(=] 0-1 MABH(XHT) (%] 2-4 /JMELH(IRAE) | | & & =]
23| 6 [[—] 0-5 EERP(EMEF) || 32| 15((=] 0-9 WLWEIZT(RIEF) 7 | 53|[—] 1-6 HEEIFT(EHER)

ARLUFFER 7K 1B7H
[ | & & 2 @ | & & 2 @ | & & 2
1 [47((—) 0-7 &BI3J(FEHF) |27 10|(=) 1-2 /JME4HR(EHL) 34(17|(=) 4-7 IME4HR(E4L)
12| 58([Z] 1-8 JTFH(EIF) 33| 16|[—] 1-2 BWERIA>AEE) ||37]|20|(—] 2-1 FHF>HI0-(RIEF)
26| 9 |[(—] 0-2 FEHEH(EE) 55348 (FRL 1 74 ) LDREZEBIHRA (=] 3-6 BEFH(EHR)




